
 

 

 

 

 

 
10𝑏3

𝑏2−𝑏
:

15𝑏2

4−4𝑏

 
𝑥2+4𝑥−21

3−3𝑥
∙

𝑥2−2𝑥+1

𝑥2−49

 
𝑥3−4𝑥

7𝑥3+14𝑥2
∙

21−21𝑥2

3𝑥2−3𝑥−6

 
4𝑥3−9𝑥

10𝑥2−17𝑥+3
∙

25𝑥2−10𝑥+1

2𝑥2+9𝑥+9

 
𝑎−𝑎3

−4𝑎2−3𝑎+1
:

3𝑎2−6𝑎+3

𝑎4−𝑎3

 

 𝑎(𝑎 − 3)(2𝑎 + 8)(3𝑎 − 7) = 0

 2𝑥2 + 7𝑥 = 0

 2𝑥2 = 8𝑥 − 10

 (𝑥 − 4)2 − 13 = (2𝑥 − 3)(2𝑥 + 3) − 2𝑥2 + 𝑥

 5𝑥2 − 13𝑥 + 6 = 0

 3𝑥4(𝑥2 − 9) − 6𝑥3(𝑥2 − 9) = 0

 

 



 

 

 

 AH = HBFH = HEAF = FC

 . א

AB ∥ DC

 . ב

 

 

 

∢D

HC = HF

 

  4 =  HF

 

 

 

 . א

𝐸𝐷 . ב ⊥ 𝐶𝐵

 

 

 

 

∢𝐴𝐵𝐷 = 23∢𝐶 = 127𝐴𝐺 ⊥ 𝐷𝐵
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